(3 Hours) [ Total Marks : H[I (

N.B. : (1) Question no.1 is compulsory. ,f;'-:_'-'a,__;'" 9
(2) Attempt any three questions from remaining qucsticns.l f
(3) Figures to the right indicate full marks. I,_f-f"i 4
1. Attempt any four of the following :- > &N 20
a) Compare intermodal and intramodal dispersion. fi.‘fri;.\\
b) Explain the basic working principle of Lasers.  #™% %
¢) Differentiate between the optical components 1501&91" and circuiator.
d) Explain the concept of Bragg Grating. .,f.g.’?' . N
e) Define crosstalk .What are the types of cri;aﬁtalk in opiical transmission
7 4 0 s, b \h
system! ! ,.,;iéx"‘m W
2. a) Derive the expression for pulse sprga_ﬁ”ﬁg‘h {ntermodal dispersion. 10
b) Draw architecture of SONETHSDHQQdﬂplmn in brief. 10
\'\. e ﬂ-.\x.
3. a) Explain Material altenuannnw\gpucal *bar communication. b
b) What do you mean by i;i‘tmla‘awr g and packet interleaving? 7
¢) Derive the expreSsionof Pg*.ver Penalty with impairment and without 7
impairment. 4.0 ‘1\} =
{fa'-.‘__'_x )
4. a) Explain SPMgndhpw 1t is mitigated by GVD. 8
b) Explain four: gzavcsrmmng 8
¢) Curmnem gh neged ot Wavelength stabilization. 4
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5. a) Explain ﬁpnﬂant network management functions to the operation of the 8

ﬁw otk
i" Whﬁ@mmru bending loss? Explain how to minimize the these losses with 8
. neat sketch.
}{Hnw DWDM is different from WDM? 4
SR 6 % Write a short notes on :- 20

\ N 1) Link Budget
W i) Dispersion and OTDR
) Optical Access Network

1v) WDM network element and architecture
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